MAKER, (.~
PACE

Ender Club
NozzleCAM



MAKER
PACE

NozzleCAM Clinic

—
£ Configuring the Default Setting: X | & bizhub C360i C300i C250i Color X @B 3D Printer Nozzle Cam - Comple X = (-] = | @ [
& (&} # youtube.com/watch?v=GAp23w_dnNc & &% 9& OB @& » = é;.
i Apps M) Classified ads - Yakaz @ (73) Chris Brunelle -.. VXB.com Ball Beari... 404 Functions Personal Finance Cl... cBl TLawnR Color Functions In... CMRR NatDet 3DPrint W Account The Cleantech Ope.. » Other bookmarks
pps I [+ (5] 5] (5] ] 5]
P
— Q, U + L
=  @YouTube R X L P

o 3D printing Tools Robot Relat >

Octoprint multicam endoscope
guide - Macro nozzle vision
Teaching Tech @

38K\ s + 1 year ago

(5 3D Printer Nozzle Camera V2 -
Voron mods update

* 4 months ago

Mini Lathe Project: 3D Printer
Nozzle

CNC Kitchen @

293K views * 11 months ago

Mix - chilicoke
YouTube

3D Printer Nozzle Cam V2, IT'S
ALIVE! Voron 2.85mm Orbiter...

ws * 4 months ago

Smoother, Faster, Better 3D
D Prints! Its like magic to...
Prints?

3D Printer custom nozzle cam
test
chilicoke

243K views + 5 months ago

P Pl o) 1330/13:53 - Assembiing > o B & [« O I3

3D Printer Nozzle Cam - Complete How To using endoscope! L
. r‘ y - The story of the huge US Army
53,714 views * Jan 31, 2021 iy 2.6 120 ) SHARE =i SAVE ... "UASN[]ARM‘Y' land trains - the largest off-...

MotorHeads

TRMNS |__ 398K views - 3 weeks ago
- e

chilicoke N <1 i0CADIRE
10:28 AM

6/2/2021



MAKER, EZe NozzleCAM Clinic

There’s Got to be a better way...

HED | Add to Watchlist
~ > X
4 PETG 3D Printer
{ JL)IE , Filament

WiFi Otoscope Ear Camera Inspection Camera Wax Removal Tool For ; :
. Shop with confidence
IPhone android

( Back to previous page | Listedincategory: Health & Beauty > Health Care > Other Health Care Supplies

g SAVE UP TO 5% See all eligible items and terms »

eBay Money Back Guarantee
—— . e Get the item you ordered or get
Condition: New with box your money back. Learn more

Sale ends in: 07d 07h18m

Quantity: ‘1 ‘ 10 available .

= usszzs ¢ \Wireless
* Self contained light
* Self-powered

* Appropriate focal

3 Pay only $17.79 [Show me how

J— 0 T Shipping: FREE Standard SpeedPA
A B 2 ‘ Ry ' International shipment of items r

reif H = S 1, *

o | o | ‘ Item location: ShenZhen, China

-P..sldprt A = containers.jpg A ﬂ:l 9701298.ppt A = 05. NoTIoQVOTOAL...JPG A = 1. Measur

Best Offer:

"



s,

L 3

NozzleCAM Clinic

@) onshope = Ender3.STEP - TPM vain
O Zsketch @ @ ¢ BRYvOOaAa4AWEG@ B

%z

Lo\

Features (45)

s i)
S | Filter by name or type
Vv Default geometry

@ Origin

8 Top

3 Front

[ Right
&) Import 1

& Revolve 1
r‘:{), Transform 1

% Transform 2
[® Extrude 1

[@ Extrude 2
[@ Extrude 3

M3;A18 Flush Head Scr..
M3;A18 Flush Head Scr..
M3 Split Washer_4

M3 Split Washer_5
M3X16 Pan Head Scre..
M3X16 Pan Head Scre
M3 Screw_1

+ [ Ender3

Assembly 1

=

V-Slot Gantry Kit - 20m...

™
(=]

0 @

® v B

a

e ed B -EE-OAWSH BIAD T Y S

WHERE TO START?

i) V-Slot Gantry Kit - 20m...

OnShape and Users to the rescue!

Ender 3 already modeled!

[ CAD Imports



NozzleCAM Clinic

Layout WEBCAM and Aim, clearance

@ onshope = Ender3.STEP - TPM van @ £ AopStore
E N Lk B FABEYOOAATE B N @0R B EGEE H-EE-0IAWE BIDIYS & !

iy

=

Features (45) ral o]

e or type
w Default geometry
@ Origin
@ Top
M Front
9 Right
&) Import 1
& Sketchl
@ Revolve 1
0.3 Transform 1
® Transform 2
Extrude 1
Extrude 2
Extrude 3

o perre

D4 Teflon tube

M3jA18 Flush Head Scr...
M3jA18 Flush Head Scr...
M3 Split Washer_4

M3 Split Washer_b
M3X16 Pan Head Scre..
M3X16 Pan Head Scre_.
M3 Screw_1

+ f]Ender3

&) Assembly 1 f) v-Slot Gantry Kit - 20m.

E[E V-Slot Gantry Kit - 20m... | [] CAD Imports

Part Studio 1 - P..sldprt A =l containers.jpg ~ 9701298.ppt ~ = 05. NoTwovoTohL.. PG A = 1.Measurements..JPG = A = 2.The curvature of.. JPG A = 3.The geometry o.



MAKER_ |

SPACE

@) onshope = Ender3.STEP - TPM main
O A Zsketch @ & ¢ B Ry OO A A0 BV @B &vie & & 0vEEYOIA ML B IDF WS gl

Loy

Features (45) ral O]

Extrude 9

Extrude 10
£® Transform 3

Extrude 11
Extrude 12
] Fillet 4

Extrude 13
Extrude 14
Extrude 15
I Fillet 5

] Fillet 6

M3;A18 Flush Head Scr...
M3;A18 Flush Head Scr...
M3 Split Washer_4

M3 Split Washer_5
M3X16 Pan Head Scre...
M3X16 Pan Head Scre...
M3 Screw_1

Part 667

+  ]Ender3

fE) Assembly 1

NozzleCAM Clinic

Revolve WEBCAM

=

fE) V-Slot Gantry Kit - 20m_.

T[] V-Slot Gantry Kit - 20m .

[ CAD Imports

ﬂ App Stor



MAKER /,-’ '

PACE

NozzleCAM Clinic

ReAlM WEBCAM as a solid using Transforms

©) onshape = Ender3.STEP - TPM mvain  ® B rpstore | Lear

NP Zsketh @G F BEYOOAALADE BN 8RR &S vEEYOCAMBE BID T YIS & +

Features (45) - 4

Y | Fi
® Origin
@™ Top
[H Front
[9 Right
&) Import 1
@& Revolve 1
& Transform 1
£ Transform 2

Extrude 1
Extrude 2
Extrude 3

Orietl
M3;A18 Flush Head Scr..
M3;A18 Flush Head Scr...
M3 Split Washer_4
M3 Split Washer_5
M3X16 Pan Head Scre..
M3X16 Pan Head Scre..
M3 Screw_1
Part 667

-~

Y 4+ {Ender3

|#] Part Studio 1 - P...sldprt

@) Assembly 1

) V-Slot Gantry Kit- 20m... | (][] V-Slot Gantry Kit-20m.. | [JCAD Imports

9701298.ppt

05. NoTloovaToAL.. PG

1. Measurements.....

=

2. The curvature of....

=

3. The geometry 0...JPG




NozzleCAM Clinic

Develop Bracket

3.STEP - TPM wmain * ﬂ App Store Learning Center
BEeEFABE-O0ONAADRE B - WO B AEBed IvEE OO WHE B IS T YT S B Serchtools.
o >

-

@) Assembly 1 V-Slot Gantry Kit-20m.. | [] V-Slot Gantry Kit-20m.. | []CAD Imports



% ’lf?‘ NozzleCAM Clinic

A Few lterations




e ’ﬁ& NozzleCAM Clinic

Add Magnet receptacles
3.STEP - TPM wmain *

B €& & ARy O 840 @Bl @85 RAvie & B8 BvEEYOH & B
Section view K







NozzleCAM Clinic

RESULT:

WEBCAM has it’s
own light.

Battery lasts
about an hour.




